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Question 1 

 

Analysis 

The results make sense as the gasoline has a lower specific gravity than the oil and the water. 
The gasoline would need to be higher the manometer because it is trying to float on the water. 
This is also the reason the mercury can be lower than the oil and the gasoline, because it is 
heavier. 

Question 2

 



 

 

Analysis 

The results make sense to me, because a system pumping sixty gallons per minute is moving a 
lot of material very quickly. A pump working for two years without stop is going to draw a lot of 
power over those two years. 


